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oZHAZAM| 1,135,680
LN 140,000 *676 % * 122 1,135,680
oHEFIHI 2,265,957
2B 1,888,297, 1002 »23] x6(% 2,265,957
oI A|
2,184,007, 2403 13 »86%+1/30! 813,941
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
oFAI| UXE 50, 00021 +2CH+ 122 1,200
ol TEUL X Y|
8,000& x10Y «52! 4,160
SEADIAA 92 X |
8,000 x2H x50 1,440
203 R &I 99,185 96,935 2,250
01 J| 222G RFAL| 63,000 63,000 0
oXIE 14,250,000 & *4=2 | 57,000
oNXIHEIE 1,500,000 & *4Z 7| 6,000
02 BRIHH R F=AIH| 31,025 29,135 1,890
oz3
(80,0002 100 )+(60, 0002 200 )+(45, 000!
245%) 31,025
M 2GRS 5,160 4,800 360
o300 F=1t
(400,000&+(5,000&+6Y ) ) *12& 5,160
204 AR AY| 437,760 446,760 A9,000
01 MM HRHAY| 84,600 84,600 0
oz 650,000 x 15+ 12& 7,800
L S 400,0003x 1+ 123 4,800
o= 350,000 x2F «12& 8,400
oFAHAZ 400,000 x 18+ 12& 4,800
ozdI|sdEHAE
400,000 x 18+ 12& 4,800
oAt AE 150,000 *3F 122 5,400
CUA(NIRR EE)
100,000& x22H 123 26,400
SE=FS) 350,000 x 15+ 12& 4,200
o 150,0002 x 10 =123 18,000
03 EZH=2ZH| 353,160 362,160 A9,000
c2F 212,760
i F=a=y 150,000& *5F 122 9,000
N E=g=y 80,0003 x4 123 3,840
-NSRE" 100,0002 x 14 =123 16,800
== 100,000 x2H 122 2,400
-SSR HEY 80,0003 x2F 123 1,920
-Otssttitisgd 50,0003 x2H 123 1,200
-HoasH|(HAZE Z8)
50,0002 *293H 122 175,800
-8 HI(63) U2 & s
50,0003 «3F =123 1,800
oEHA 42,000
-CHelesy| 50,0003 *70E*12& 42,000
oz I|=HIEH 37,800
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A B2
T BHSAAY|(Z2D)
=l Jl=3H| (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Ueresyl 50,0002 63 « 122 37,800
oHMSAIL A 7,800
-tHelasy| 50,0002« 13+ 122 7,800
oSG A 12,000
-S| 50,0002 x20F 122 12,000
oW SHIE 9,000
-Ueressl 50,0003~ 15 ~12& 9,000
S AR, 5,400
-Uelesy| 50,0009 * 122 5,400
ogd 26,400
-NfsE 100,000& x22 * 123 26,400
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